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          THIS IS THE NO-CALCULATOR PART OF THE MIDTERM
[15 POINTS] 
Sketch the graph of 
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. Include 2 periods. Label all x- and y-coordinates discussed in class.

SHOW YOUR WORK.
[10 POINTS] 
Sketch the graph of 
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. Include 2 periods. Label all x-coordinates discussed in class.
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          THIS IS THE NO-CALCULATOR PART OF THE MIDTERM
[8 POINTS]
Sketch the graph of 
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[12 POINTS] 
Evaluate the following expressions.
(a)
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[12 POINTS]
If sec x = 6 and csc x < 0, use identities to find the values of sin x and tan x.
[8 POINTS] 
Use the trigonometric substitution 
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 as a trigonometric function of 
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[8 POINTS] 
Use your graphing calculator to approximate the solution(s) (to 3 decimal places) of 
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 in the interval [0, 2().
[6 POINTS] 
Write 
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 as the sine, cosine or tangent of an angle.
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[20 POINTS] 
If 
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, find the value of the following expressions algebraically. (You may use your calculator to perform additions, subtractions, multiplications and divisions.)
(a)
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(b)
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[10 POINTS] 
Find the exact value of 
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[10 POINTS] 
Find the exact solutions of the equation 
[image: image24.wmf]2

3

2

cos

-

=

x

 in the interval [0, 2() algebraically.

[14 POINTS]
Find the exact solutions of the equation 
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in the interval [0, 2() algebraically.
[18 POINTS]
Verify the identity 
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